Id 1

Question fyrafaf@a el & & fhad TaX afr § 2

A INHG

B Toolel

C CIESIG

D AQIeT

Answer D

Id 2

Question farsfaf@d e & fow 3we A R arv et & & 3u9gard
JATH BIfeT
chodIGle

A dgsilig

B &cqew

c L )

D HHURYT

Answer B

Id 3

Question qffaRor # I9HeT JAUT H AsE BT 2

A qJ-37Ta0T

B qAT-3TaoT

C gR-31TaoT

D Y- 37TaROT

Answer (C




Id 4

Question goigart ersg & TIT AT —
3feler

A Tshald

B qrad

C qqel

D AT

Answer |C

Id 5

Question fyefaT 2reg / I dIaTd 2sc

o (3N

A 39T

B Jrqor

C HRI9oT

D AT

Answer B




Id
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Question fAFATAf@T 2rscl & 3T IR IR s feU 1v| 3944 ¥ 3T
FATS G A i Y|
IR

A A

B g

C 373G

D FOR

Answer |B

Id 7

Question rafaf@a & & & wse-2Efd & T ATl

A MeEee

B e

C TRl

D DIt

Answer B




Id 8

Question fFafaf@d yeat & T o arg & & o & IR ¥ 3R o
8 §1 FAfC arel gty H T3 AET # I 81, 38 AT HT 378N
(A,B,C 37aT D) & 9T 3 & ARG a1 g 7 1S IR 7 & A
IR T F 3 79 F Rfed B

A Sl & TEpes 4

B OIIRSE TEATT &6 glel

C 3TYRT T ST T@T &

D FI I AL

Answer A

Id 9

Question grerrierss forw Teh e Qlsg —
gHRT @A are|

A ATSAT

B qH-AARS

C SToTeT

D qrfda

Answer A
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Question | «qg JTAITHT AT Fcat &I &S US|« 3H aed H Hio-ar fohar
g ?
A aad T
B DIEICH
C TeTah
D ATHES
Answer A
Id 11
Question | A man said to a lady, “Your mother’s husband’s sister is my aunt.” How is
the lady related to the man?
Teh AT A AR @ ohgl, “TFeR Al & 9fcy dhr FgeT A 3 &
39 3IRA FT 3 & T FAT JFae §?
A Daughter
CE]l
o)
B Mother
HTAT
C Sister
sgal
D Aunt
3T
o)
Answer |C
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Question

In the following, select the related word from the given alternatives.
Heat : Convection :: Space : ?

fFFfafld e # U 71w faevedl & & HafT eeg &1 AT
SSAT : A ; ; Tl 36T :?

A Conduction
Uelo

B Transference
TATIRT AT

C Vacuum
IGEIG]

D Radiation
[CIEZUI

Answer A

Id 13

Question
In a certain code language, “he is game” is written as “@#*”, “good game
play” is written as “$*&”and “play that hard” is written as “!$%”.How is
“good” written in that code language?
el [AfRad e #r H “he is game” &I “@#*” & &I H,
“good game play” & “$*&” & ¥ & 3R “play that hard” &t
“1$%” & &9 # for@r Sirar . df 38 g #r # “good” fha
g forg@m Sirwan?

A &

B *

C $

D @

Answer A
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Question Cup is to coffee as bowl is
FT HIET & T § a1 F Ferr &
A dish
ATell
B soup
T
C spoon
B2 o)
D food
HIoleT
Answer |B
Id 15
Question |If in a certain language, COVET is written as FRYHW, then the code
‘SHDUO?’ 1s used for which word?
afe te AT $18 AT § COVET & FRYHW for@r Jirar g,
ar SHDUO #is foha s o forw gater foam amar g7
A QUAKE
B REPAY
C STINK
D PEARL
Answer |D
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Question | If each of the letters in the English alphabet is assigned odd numerical
value beginning A=1, B=3 and so on, what will be the total value of the
letters of the word INDIAN?

ARy 3T Ut # TE IR ) e TEar ¥ o% @ fowe
A=1, B=3 3R 3T TH & s INDIAN T Fel ATl Fhcar
gram?

A 86

B 88

C 89

D 96

Answer D

Id 17

Question | Find the odd word from the followina:
fArfaf@a # @ [AwA 2rsg @en:

A May
AS

B July
TelTs

C Auagust
3ITET

D September
adesx

Answer D
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Question

A is the mother of B. B is the sister of C. D is the son of C. E is the brother
of D. F is the mother of E. G is the granddaughter of A. H has only two
children B and C.

How is C related to E?

A BHR AT | BC M dg7 g DCH YT g| ED & 18 ¢ |
FERFATg |G ARAINg|HIF Faadalscda B IR C §
| C, E & &% wdfad g?

Father
o

Son

Cra}

Mother
AT

Cousin brother

TR G

Answer

A




Id 19
Question _ )
Which of the following represents such employees of Company X who are
also Government employees, but are not Scientists?
fTfof@a & @ Fi9 suer X & W& FAaRar &1 gfa=tca
AT § S THPRT haary i §, fchd danfas =g 82
fg:l?:)::‘feim Government
Employees
Scientists
A Dand G
D 3R G
B Onlv D
ohdol D
C Gand F
G 3R F
D Onlv A
hddl A
Answer B
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Question

Statements: All laptops are computers
Some laptops are notebooks.
Conclusions I. Some notebook are computers
I1. All notebooks are computers.

FUA: T AUCT FYX §
FO AUl AledH &l

fasery | $o Alcdsd Fegex §

1. T o-I\IC%qo $Hee &

A If only conclusion | follows
Iie Shael folshy | 3TeR0T el &
B if only conclusion 11 follows
Ife oo sy || 3TeTEROT Xl g
C if either conclusion I or conclusion Il follows
gie a1 o sy | o1 sy 1| 3eTE0T Il §
D If neither conclusion | nor conclusion Il follows

e o o fasehy | 3R o € SRy || TER0T X &

Answer

A
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Question | Twenty students are standing in a straight-line facing North. Rina is
standing sixth from the left end. There are only three students between
Rina and Shweta. Radha is standing exactly between Shweta and Rina.
Tina is standing sixth to the right of Radha. Anita is standing fourth from
the right end of the line. There are more than four students between Rina
and Tina.
What is Shweta’s position with respect to Anita?
SR A MG AN W AT ST TS ¢ | I S0 BR &
TS TUH W g | N1 3R 23dr & &g shdel el o1 g | T
foreher 2adar 3R {ar & g @S § | & T & a8 I} T
T ¢ | 3T oS & aifgel O ¥ Y T 9w w@d § | O
IR &1 & &g IR § 31 ©F § | 3dr & Ja9 & ddT I
Fufa a7 § |

A Sixth to the left
a5 3R F T

B Eiaht to the left
a8 3R & 3Medr

C Seven to the left
a8 3R & Aradr

D Ninth to the left
a8 3R & Alar

Answer |C
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Question

Select the number pair in which the two numbers are related in the same
way as the two numbers of the pair given below.

35:6

39 TEAT SNar &7 IIeT Y ToTaH af FE&Ie 34T kg O gefad
g o oA & IS ST Fr ar FEa|

35:6

85:9

64:8

26:5

0O w >

120:11

Answer

D

Id
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Question

Select the word-pair in which the two words are related in the same way
as the two word-pair.

Author: Book

3H UAG-YIA H TTT Y [1GH &l 26G 38T g & Hafd §
SR e rse-gIA|

SECE h TETh

Spider: Web
Hhal: Hhal ol STl

Doctor: Medicine

) :ﬁﬁc

Mother: Son
AL 99
9

Reptile :Crawl

TGT: el

Answer

A
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Question

In a code language, SEDATIVE is coded as ATDESEVI. How would
PERSONAL be coded in that manner?

U &g AT &, SEDATIVE & ATDESEVI & 9 & &ifed
forar Srar g1 39 alles & PERSONAL & shifed forar smeem?

OSREPLAN

SOREPLAN

SOERPANL

O 0Ol >

SOPERLAN

Answer

B

Id
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Question

Arrange the following words in a logical and meaningful order.

1. Cloud

2. Rainbow

3. Devastation
4. Rain

5. Low pressure
6. Flood

Arafaf@a et & v arferes 3t T A F Fafeua =1

1. A9

2. SEEeY
3. derer

4. ST

5. &H ¢dld
6. 9%

1,54,2,6,3

5,1,2,4,6,3

5,4,1,2,3,6

OO W >

5,1,4,2,6,3

Answer

D
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Question |Managers who are ambitious are oriented managers.

A socially

B success

C well

D non

Answer B

Id 27

Question | In the following question choose the correctly spelt words.

A Conscelintious

B Conscientous

C Conscintous

D Conscientious

Answer D

Id 28

Question o ) o
An associate in a office or institution

A Companion

B Ally

C Colleague

D Accomplice

Answer |C
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Question | Improve the bracketed part of the sentence.
My brother is indifferent (about) whatever | say.

A in

B of

C to

D No improvement

Answer |C

Id 30

Question | The given sentence is in direct/ indirect speech. Change the narration of
the sentence. Select the correct option from the sentence below.
The young knight enquired which way the princess had gone.

A The young knight asked, “Which way has she gone?”

B The young knight asked, “Which way did the princess go?”

C The young asked the old man where the princess had gone.

D The young knight enquired, “Which way the princess went?”

Answer B

Id 31

Question | In question below has two blanks, each blank indicating that something
has been omitted. Choose set of words for each blank which best fits the
meaning of the sentence as a whole.
Human beings are biological ; they need to be grounded in time and
place or else they come

A things, forward

B souls, back

C creatures, again

D organisms, unhinged

Answer

C
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Question |[Ensconce

A Captive

B Subjugate

C Castigate

D Expose

Answer D

Id 33

Question |Choose the correct alternative of the following sentences.
She said to me, “I thank you for the help you have given.”

A She told me that she thanked me for the help | had given

B She thanked me for the help | have given

C She thanked to me for the help | have given

D She thanked me for the help | had given

Answer A

Id 34

Question | Choose the word meaning OPPOSITE to the word: TORRID

A Damp

B Tropic

C Sultry

D Parched

Answer A

Id 35

Question | The __ should understand that they would get a licence only if they have
basic skills of driving.

A residential

B political

C authoritative

D applicants

Answer D




Id 36

Question ) )
26 men can complete a piece of work in 17 days. How many more men
must be hired to complete the work in 13 days?
26 G&Y Teh 1A & 17 &A1 & QU X oo gl 13 et 7 &1
W & & fov AR fhda @l & A ) o[ arigu?

A 9

B 8

C 6

D 18

Answer B

Id 37

Question _ ) _
A certain work can be completed in 100 days by a certain number of men.
But, due to the absence of 10 people it could be completed in 110 days.
How many workers were employed initially?
Teh 1 6 AlFadl art 100 &t # g foham ST Fevelr &l
foreq 10 safqat @1 sEufafa & #ror ag 110 &=t F qu &
7| URE H Tohdel Safdd e IR o9y IT?

A 100

B 110

C 55

D 50

Answer B
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Question ) _ _ )
30% of first number is 75% of the second number. What is the respective
ratio of the first number to the second number?
gl FET T 30 wied gud HEar F 75 wied §1 ggen
TEAT T gAY HEIT A 9187 FAT 34T 872

A 5:2

B 5:3

C 25:14

D 15:16

Answer A

Id 39

Question .
A watch sold for Rs.1440 at 10 % loss, at what price it should be sold so
as to earn 15% profit.
Teh U3l &l 1440 ¥ H 9T W T <Ilad & 10 giderd g
gidl & ar ag 39 fhdsy 93 A 99 T 38 15 gfaerd ey g

A 1820

B 1830

C 1840

D 1850

Answer |C
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Question _ _ _
A dishonest dealer professes to sell his good at cost price, but he uses a
weight of 800 gm. For one kg. Find his gain percent?
T dgAT GHIAGR T Hed W el & GIaT Hdl ¢ oifhed g
1 fopell &1 ST 800 I &Y dreldT &1 33T oy gfaerd Iaisu|

A 20

B 25

C 40

D 10

Answer B

Id 41

Question ) _ ) ) ) ) _
Cost price of 21 objects is equal to selling price of 15 objects. What is the
profit?
21 TEG3T &1 T Hed 15 TEIT & [ahT 7eg & SR gl
oIt Sfdera glem?

A 25%

B 30%

C 33%

D 40%

Answer D
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Question _ ) _ _
On selling 36 oranges one incurs a loss equal to selling Price of 4 oranges.
What will be the loss%?
36 IR 9T W Teh ®ol fashdl A1 4 HRI & TG AT &
RIeX gt gl &1 3T gifar ufaerd ar ghen?

A 10%

B 34%

C 13%

D 14%

Answer A

Id 43

Question | A man purchases two watches at 560. He sells one at 15% profit and other
at 10% loss. Then he neither gains nor lose. Find the cost price of each
watch.
Teh 3T 560 W ar af3dl & Tl ar &1 98 15% ol W
T 99dl & 3R 10% gl 9T 3| T ag of af amsT 3R 7 &
gifel 81 9% °dY & aRTd Hed Ad fAT

A 224, 300

B 200, 300

C 224, 336

D 200, 336

Answer |C
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Question

A shopkeeper earns a profit equal to the selling price of 11 meter by
selling 33-meter cloth. Find the profit percent.

Ueh GahleigR 33HIET &Usl dadr § 3R 38 11 #le Fus &
fasa Ao & T o g3 | 3HHT o gfaerd &1 glem-

50%

52%

45%

O 0Ol >

55%

Answer

A

Id

45

Question

A person sells two objects in Rs 5000 each. He sells one for 20% profit
and another for 20% loss. Find his total profit or loss percent in the whole
transaction.

Teh SO & 5000 ®9F 9fd a¥d T & ¥ ar a&du 99 &) Tk
& HI g8 20 iR Fr grfel 9T AT g@A & Fr 20 iR
& ol T 9T &l gl W EiG 7 38 Foras gfderd &1 amer ar
gifer 1 urfed g

4 % profit
4 % oITH

4% Loss

4% @It

20% Profit
20% ©ITH

No Profit and Loss
o ar oreT o gifer

Answer

B
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Question ) ]
A fruit seller buys lemons two for Rs 1 and sells at 5 for Rs 3 rate. Find
his profit percent.
Teh %ol fashdl 1 T4 7 o & gae § g wlear & T 3
T H 5 & GO & 3¢ o9Iar gl 3G arH gfaerd g-

A 10

B 15

C 20

D 25

Answer |C

Id 47

Question ) ) _ _
A shopkeeper sells a TV set on discount of 8% of printed price and gains
25%. If print price was Rs 20,000 then, what was the cost price?
Teh galel o 3ifehd Hed W 8 Yidud ¥¢ &d gu &rdl de &=
3R 25 yfderd omsT FAT| Ife 3ifhd Fed 20,000 T AT Ar
Y Hed T UT?

A Rs 13,800

B Rs 14,720

C Rs 14,800

D Rs 13,720

Answer B
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Question _ _ _
The ratio of the present age of A and B is 4:5. The sum of their age after 4
years will be 80 years. What will be the ratio of their age after 4 years?
3 3R T H IAAT A HT AU ¥:9 § | TR ¥ TG 3eTehr
3T T 1T ¢o qY BN a6 IR Y §g 3eThT MY T fefard
T B>

A 11:9

B 9:11

C 34

D 1:2

Answer B

Id 49

Question _ _
The ratio of the age of Ram and his son was 4:1 before 5 years. If the total
of their present age is 45 years. What is the Present Age of son?
A AR 386 97 H1 g qF T HG H ¥:2 F 369G o7 | I
JAHTT H 3Tehl T T T 89 a¥ g1 Al doidAeT H IF 6T 31
T &2

A 10

B 9

C 12

D 7

Answer |C
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Question

Ten years back A’s age was half of B’s age. If their present age ratio 3:4.
What is the sum of their present age?

CH ay¥ ugel 3T AT Y T/ el M| I 3R aAART I A
3:8 T AU § o 3T I Y HT JRT FAT g

A 45

B 25

C 35

D 40

Answer |C

Id 51

Question | Which of the following part of cell helps in locomotion or movement?
HITAFT &l [T F T T T HRFT ghd A AT Toled - T H
HCG AT g7

A Cilia and Flagella
faferar 3 e

B Centrosome
AEH

C Nucleoplasm
TFeIINCATH

D Chromatin
AT

Answer A
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Question | Definite mass of iron on oxidation gives a specific quantity of rust only.
This is an example of
IFTFHIOT & eI oiig & [Afaa gegdasT v Ser Y Fad
fafarse AT 3cUeT gl g[Ig fhaer Teh 3¢gRT & ?

A Law of multiple proportions
TS I 1 e

B Avoagadro's law
A Fr e

C Kinetic theory of solids
3 &7 JfaeT Aegid (Feafece Iy 36 TS )

D Law of conservation of mass

ScTHTT II&IuT &l g

Answer

D
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Question

Which of the following statements are not assumptions that Dalton
proposed for his atomic theory?

fof@a st & & i a1 39 AIA3T J § g7 g, 5
STecdl o 39el WA] fAeerd & fov gedrad v o

Tiny , indestructible and indivisible units called atoms are the building
blocks of all matter

oIel, RN Ta AN shis oo IRATO] el SifeT &, Jall
TeTd g8 AT a9 el g

Separation, combination, rearrangement of integer number of atoms takes
place in chemical reaction Thus atoms are neither created nor destroyed

At fRfRAT & e quiie §&ar # IRATI3T
JUFHIOT, HAISTeT, TAATEATTT Bl §] $H FhR GIATUT T
dl ST ST Thal & 3R T & dAse fhar 31 gohar g

Gaseous reactants giving gaseous products at same temperature and
pressure hence will bear a simple whole number ratio with each other

I HAPRE FA AT Ud gd W AT 3cU1E 3cTee] A
&.37: 39T U G & ATY U A qUITeh 3Feqard grem|

A pure compound will contain same elements in a definite whole number
ratio no matter what its source.

T Qee ifaen # T [AfRud quT d@ar 3edid A v € 39
AMFAS B &l & 3qHT TT IS o &l

Answer

C
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Question |1 aram molecule' is best understood as
A 2 ) & CART HafaA &1 & aenivd forar
ST &

A Ratio of net weiahts of the constituent atoms of the molecule in grams

qH H U] & Teoh WAV & e IRT HT 3Fe]d1d|

B One aram weiaht of C-12
T -12 &1 Teh JqH IR

C Ratio of mass of one molecule with mass of 1 atom of C-12
& -12 & Uh WA] & GeTAT & Y Teh 0] & gedHAld H

9

D Mass of Avoaadro number of molecules under STP conditions
Aloleh o9 T4 &d (TH & 9 ) WX 03T hr Tanlgl d&ansh 1
G HATT

Answer D

Id 55

Question | The stoichiometric coefficients on balancing the reaction below will be
respectively.
P+ HNO- - NO- + H-O + H.PO.
frrfaif@a f@fhar @I dqfad aa W FeisfhaAfes quns
SHAU: BIdI-
P+ HNO; - NO, + H,0 + H;PO,

A 14421

B 2,6,6,1,2

C 15511

D 3,11,11,1,3

Answer C
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Question

The number of moles of methane that would undergo complete
combustion in order to produce 55 am of carbon dioxide would be

55 ITH ehTelsT SISHTFAISS &l 3cUTesd sl & felv quT Gl fohT
ST arer #AT & AT gier

A 150
s dIT
B 170
S dIT
C 8a
)1l
D 200
Qe IIT
Answer |D
Id 57
Question |Boyle's law for a aiven mass of a aas may also be stated as
Us I & Yed gIHAT & ov aigd & Fua - [Aaef@a &
& & gRea fFar S ear §-
A P/V= const
P/V= Plc&ce
B V.T= Const
VT =T
C P/Density = Const
P/ gdcd = dlckle
D P X density = const
P X ofca = &
Answer C
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Question | Relationship between Celsius temperature and K temperature can be
arrived by the application of
Jfeqay dvAT dar sfedd (K ) d9AT & &id G Pl---mmmm- cg
3TIANET @ YIed foham ST ehell 8

A Ideal Gas Law
3TeeY T e

B Charles Law
qred &l ga

C Gav-Lussac's Law
Aol F1 FIH

D Avogadro's Law
TarEr & fga

Answer |B

Id 59

Question | If Rutherford's atomic model were considered true, the spectrum of
hydroaen atom would be obtained as
e TEIDIS & GAY] HISH S T AT ST, ol gTghslel TRAT]
Pl TIFCH b & H 9red gid|

A Discrete lines
fafasra (l3&shic) arseT

B Discontinuous bands
3Gdd §59

C Continuous band
qdd dsd

D Observed as short pulses

BT TS (9o )& &9 7 9ffd

Answer

C
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Question | Pork eaters are prone to be infected with
IR & A Gl dTel AR &l ld T THAT F TET gled Hr
FEATTAT BIcT & ?

A Tape worms
g arey

B Earth worms
Y gy

C Silk worms
e at=y

D Malaria
Holfr

Answer A

Id 61

Question |Hund's rule will not be obeved for
g &l | = p— & T oy FEr grem

A Silver (Z=47)
qley ( Z=47)

B Aluminium (Z=13)

TR (Z=13)

C Maanesium (Z=12)
ATARTH (Z2=12)

D Vanadium(Z=23)
dafsae (z=23)

Answer A
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Question

200ml of ethylene gas and 200ml of hydrogen chloride gas are mixed and
allowed to react as

CH,(g) + HCl(g) — C;Hs5Cl(9)

The final volume of the reaction mixture and magnitude of work
aenerated respectively, will be

200 T TideleT 3T 3R Q00 THT B39 FaARIBSS 3T &l
fArfafad 0 & @emar Srar & dur 3ifAfRar e fr A
fg anfa &

C-H-(a)+ HCl(a) » C-H=Cl(a)

FfAfar AT &1 3fad 3R—daT aar FT ITT SR ST IRHATT

gIam |

Unchanaged and zero

IaRafdd vd g

-0.22 and 40.52]
-0.22 d41 40.52)

0.1L and 20.26J
0.1L T 20.26J

0.4Land -40.52)]
0.4LdAT -40.52)

Answer

B
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Question

Which of the following consists of discrete polar molecules at room
temperature?

frrfafad & @ g w0 & av ) ffdsa @ifhe) ydig
3707 91T ST 82

cs,

RacCl,

HCN

OO m >

F

Answer

B

Id
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Question

Le Chatelier's principle demonstration using the following equilibrium has
been set up in a closed vessel at 2-3 atm pressure and 400 —
450° Ctemperature

250,(9) + 0,(9) = 2_503(9) _ o
which of the followina chanaes will not affect the equilibrium ?

fArAfaf@a dqere 1 3997 a off defoer & faeara &
UGeeT -3 Shle AIYHASNT &I dUT 400 — 450°¢ATT W Teh &g
o 7 TfUa fohar 913 g

250-(a) + 0-(a) =S 250-.(a)

et & @ @l &1 IRads deleT HT THTIAT TG HM?

The reactants concentration

ITASPRFT FHT Frgar

Addition of 2 litre of helium gas

R olleY It d AT &1 fAemr S

Lowering temperature
T I H HIAl

Catalyst v, 0-addition at 2-3 atm pressure

-3 3PS TYHSAT I W 3P 1,07 faReFddr
o]

Answer

B
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Question | The colour of tetraaminecopper (I1) sulphate is
TS PIaX (11 ) ohe &l LT —---mm- g
A Blue
ATelT
B Red
ollel
C Violet
SareT
D Green
3U
Answer A
Id 66
Question | The most strained cycloalkane is
qad SATeT faeh AIgerell3folehal ------mm- gl
A Cvclopropane
ATSFATIT
B Cvclobutane
ATsFelleg e
C Cvclopentane
qisFcllUecol
D Cvclohexane

qSFellg o]

Answer

A
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Question | Ester formation is called
ST BRAT &l ----- Fed ¢
A Claisen condensation
FoloTel Hailh{oT
B Aldol condensation
Ueslol Hailehd0T
C Fischer esterification
R TEedaoT
D Trans — esterfication
gy -TE{a]oT
Answer (C
Id 68
Question | The compound used as a preservative in food items is
ey qerd A OoRadla & ®9 H 9T fRar Sreiaren A @
A Sodium benzoate
aIf2gH d=siive
B Formic acid
Bitdeh TS
C Sodium salicvlate
aifsga e
D Sodium acetate
aIfzgA tfaee
Answer |A
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Question | Tervlene is a condensation polymer of ethylene alycol and
el sl Targahrer 3R - ST GaATehLuT ( condensation)
giell# X ¢ |
A Benzoic acid
Jeollssh TTAS
B Phthalic acid
Jfes s
C Salicvlic acid
aferdifos wfas
D Terephthalic acid
edfos thas
Answer D
Id 70
Question | For nitration in benzene we require
SolleT & ageee & v g - S gsdY ¥
A CONC.HNO; + conc.H,S0,
qifed HNO, + =ifs. H,S0,
B CONC.HNO;
Fifed HNo,
C Conc.H,S0, + fumingHN O,
Hl iaFIHzSO4 + gei@reaedt (fuming)HNO;
D KNO,
Answer A
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Question | With which Bank, Freecharge has launched a Diaital credit card?
fra d& & a1y, hraer o T f3elica shise #8 died fohar g2
A Axis Bank
TiFad dh
B HDFC Bank
TISIUHAT deh
C ICICI Bank
ITSEIIMSHIATS S
D SBI
THSIITS
Answer |A
Id 72
Question |How many new medical colleges have been approved by the Union
Cabinet by 2021-22?
FAT FAAFHST o 2021-22 dF fahdel AT AfSHe Flelslr Hr
TATYAT &1 H &T §72
A 45
B 95
C 85
D 75
Answer D
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Question |Which day was celebrated as National Sports Day in India, on the birth
anniversary of hockey leaend Maijor Dhyan Chand?
frg & i gl & HAgIAIS AR &ede Hl Sy W IRT &
T W fGad & ® H AT AT 82
A 29 August
29 33T
B 28 August
28 31IEd
C 26 August
26 3HITET
D 22 August
22 HITE
Answer |A
Id 74
Question | What is the Name of India’s first woman Director General of Police who
has passed away recently?
HRA I ggoll Al i Agiface &1 A1 Fa1 § TSieTer gt
g & aYsT 8 Irar?
A Janaki Venkataraman
STeTenl deheIHeT
B Savita Kovind
gfadar +ifde
C Raivanshi Devi
Torael e
D Kanchan Chaudhary Bhattacharya
Sde AR Heeray
Answer D




Id
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Questio |In which city, India’s first garbage cafe will be opened?
n P ABT H ARG T UGl HIA hth @il AT ?
A Pune
qur
B Ambikapur
. S
C Indore
gal
D Mathura
HYUT
Answer |B
Id 76
Question|How much amount has been released by Centre for afforestation to various
states?
Affer AT & gellaur & AU sheg o fohdair UMY SRT Fr §72
A 44,436 Crore
44,436 a3
B 45,436 Crore
45,436 a5
C 50,436 Crore
50,436 TS
D 47,436 Crore
47,436 S
Answer D
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Question

Which E-commerce company has decided to stop using single-use plastic
in packaaing?

e S-piAd  Fuell A JfSir 7 Hara-gar cannfes &1 SEIATA
9¢ H H b fhar g7

Amazon

AT

Flipkart
IEEEED

Justdial
ol&C Sidel

IndiaMART

sf3grATe

Answer

B

Id
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Question

According to RBI annual report 2019, Value of bank fraud cases
increased , from Rs.41,167 Crore in Financial Year 2017-
2018 to Rs.71,543 Crore in Financial Year 2018-2019.

HREI3MS A ari¥es RO 2019 & I@R, d& Gi@rest & AFcl
AT Hed 96 1, fadg a¥  2017-2018 # Rs.
41,167 s ¥ FeaY AT a¥ 2018-2019 & Rs.71,543 &3
gl |

73.8%

70.8%

78.8%

O 0O o>

79.8%

Answer

A




Id

79

Question |Who won a Gold medal at the Shooting World Cup in Rio de Janeiro in
the 10m air rifle cateaory?
freel 10 #Hley TR Usthel a1 # RAT St SiRkAr 7 icer faea
%9 H TIUT USh Sirdr?
A Elavenil Valarivan
TaAAad goTRasT
B Manu Bhaker
Ho] HTRT
C Riturai Singh
HIUST 8
D Gavathri Nithvanandam
IET AcaeeH
Answer |A
Id 80
Question |In which state, 25th Senior Women’s National Football Championship
will be held?
fora ergT # 25 & Wfax Afger Ts8T Bedia A=
IATSd i Frwa?
A Andhra Pradesh
3TY geer
B Madhya Pradesh
TqET Ye2r
C Arunachal Pradesh
3TUTTIST 9e2r
D Uttar Pradesh
3 IS
Answer C




Id 81
Question | Air India will ban the sinale use Plastic from .
TR sf3ar T Tehel 3YTNT Tollites U Ffdaer o@m
¢afT|
A 9 September
9 RAd<R
B 2 October
2 W
C 25 September
25 ffasx
D 12 October
12 347=I'§‘c|T
Answer B
Id 82
Question | Ajantha Mendis has announced his retirement from all forms of the
Cricket. He is from which country?
3Sdr AR o fhahe & T Ureal O oIrd ol hr 9IYuT &l
gl a8 g cor ¥ 87
A Nepal
qTel
B Banaladesh
CIERCIR
C Sri Lanka
PIER
D Bhutan
o
Answer (C




Id 83
Question | Abhishek Verma is related to which sports?
31fAvs gAT g W & T&fedT g7
A Archery
RIECA ]
B Shooting
gfear
C Javelin Throw
e theh
D Discus Throw
qFhl theah
Answer B
Id 84
Question | International Cricket Council (ICC) has suspended Cricket.
IS fohche IRNE (3SR o fohhe &1 fafad
X fear g
A Pakistan
qrfehEdrel
B Banaladesh
CIERIA
C Nepal
SAdTel
D Zimbabwe
Srearsa
Answer |D




Id 85
Question |Ram Chandra Paswan has passed away recently. He was the _
JHAIG ITHdT HT gl & A e g 93| ag |
A Scientist
afas
B Producer
IGEIGH
C Director
fAderes
D Politician
ST dT
Answer D
Id 86
Question |On which day, Bureau of Police Research and Development (BPRD) has
observed 49th Foundation Day?
fore & 1 =0 3% g REd Us sdelvede (fH3msED) o
49aT FTAYAT fad AT 87
A 27 Auqust
27 3ITET
B 28 Auqust
28 3HIrEd
C 29 Auqust
29 3HIrEd
D 25 August
25 3IrEA
Answer B




Id

87

Question |Which country has become the first country in the world to issue
Biometric Seafarer Identity Document (BSID), capturing the facial bio-
metric data of seafarers?

HiTar ¢2r faa FT ggarr &7 o AT § TS ATfgenr & Bidger
IRIATEH 3T FT TG P SAIHCH oAldeh Ugdlel GEdIdol
(STF3mEs) SRy R g7

A China
dreT

B India
AR

C Japan
KIBIG]

D Russia
&

Answer B

Id 88

Question \Who inauagurated the "THE TOY BANK" classes?
fraal @ <ig d" a3 &1 3gured fhar?

A Prakash Javadekar
g1l ST

B Arjun Munda

C Smriti Zubin Irani

(& o E

D Thawar Chand Gehlot
YT} TG gl

Answer |A
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Questio |Banjari village of Katni district became an integral part of the digital map
n of the country. It is located in which state?
et fSor T ST g 22T & RBfSed AT 1 vk 1fHed
39T 91 ITaT| I R ToT A Rua §2
A West Benaal
uyod 9
B Odisha
3nsrer
C Madhya Pradesh
HqET Ye2r
D Rajasthan
AT
Answer (C
Id 90
Question  How much lakh crore rupee, Reserve Bank of India has decided to transfer
as dividend and surplus reserve to the aovernment?
RO RTT o o TR o o 3R 3f0dy 3mfea & &9
H fordey @ RS 39 gTAIdRd HaT &1 Aot for=ar 82
A 1.76 Lakh crore
1.76 oM@ HUS
B 1.56 Lakh crore
1.56 oM@ HUS
C 1.86 Lakh Crore
1.86 @ HUS
D 1.26 Lakh crore
1.26 oT@ HUS
Answer |A
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Question | In which city, Prime Minister Narendra Modi launched the $4.2 million
redevelopment proiect of the 200-year-old Lord Sri Krishna temple?
fora eX A, T Jg Ay o 200 ATl YT Il AFSoT
AfeY Fr 4.2 AT SToR & gATaerd IRAISTAT AT YHRH
Rar?

A Manama
HATHAT

B Abu Dhabi
319 YT

C Islamabad
STATHATIG

D Dhaka
Glhl

Answer |A

Id 92

Question | In which country, Prime Minister Narendra Modi launched the RuPay
card?
forar Sor & gurer HA g A F ¥ FHTS HT YAR fhaAr?

A Saudi Arabia
AT 3RS

B UAE
qus

C Afahanistan
ITRATAEAT

D Bahrain
ERC

Answer B




Id
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Question |Who has won the 129th Durand Cup at the Vivekananda Yuba Bharati
Krirangan in Kolkata?
fordeT lerhrar & fadwhieie, JaT SIRCT HISEH H 129 a7 35 F9
Sfar g7
A Mohun Baaan
HIgel STl
B Army Green
AT e
C Saloaocar FC
HTeRMaeR THET
D Gokulam Kerala FC
IMpold HTel THET
Answer D
Id 94
Question |Who has won the Bronze Medal at the BWF World Championships 2019
in Basel?
foras el H Asseque fava IMART 2019 # FET T
Sirar g7
A Sai Praneeth
s goia
B sameer Verma
FHR gAr
C Kento Momota
el AYAYT
D Anders Antonsen
TsY Uil
Answer A
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Question | In which city, Amazon opens its largest campus in the world?
fora AET H AT o Tad T HIAT TeH §8T IREX Grell g?
A Hyderabad
LAE I
B Hisar
rar
C Lucknow
[SRC R
D New Delhi
75 feeetr
Answer |A
Id 96
Question |SEBI has announced a reward of up to rupees for
informants willing to provide credible information regarding insider
trading cases.
JdT o SAAEST ¢S AHA & IR H [T AHAPRT Yei
A & gTOh HART & faw ¥ I o SelleT I HIVOT
Hr &l
A Eiaht Crore
S H3
B One Crore
Teh I3
C Seven Crore
GICIERIES
D Four Crore
IR S
Answer B




Id 97
Question | Who launched "Fit India Movement,?
"The gT8ar HadAc" &I IR fhaa fhar?
A Rai Nath Singh
STy g
B M Venkaiah Naidu
TH dhar A5
C Ram Nath Kovind
THATY Hifdg
D Narendra Modi
g A
Answer D
Id 98

Question | In which city, Indian Coast Guard held a High-Level Meeting (HLM) with
the Sri Lanka Coast Guard?

frT Y A HRAT deleTs do of HAelal dc &Th & A1 Th
3TT-TART d6h (TAUATH) AT dhr?

A Jaipur
STy
9
B Kolkata
ShlolehTdT
C Mumbai
9 E
D New Delhi
a5 feool

Answer D




Id 99
Question \Who has been appointed as the President of Paytm?
fordt 9dTTA & JreTeT & ®9 F fogerd R o g2
A Raiiv Kumar
TSfld HAR
B Sarada Kumar Hota
AIRET FAR et
C Ravinder Takkar
Ifdey T
D Madhur Deora
FYT &asT
Answer D
Id 100
Question |Union Minister of Civil Aviation Hardeep Singh Puri announced that the
Hollongi Airport will be completed by March 31, 2022. It is located in
which state?
el AT 33581 HAT gGIT 8 QU o =wom & fo grellel
gdls 37387 31 AT 2022 T G0 & Swan| Ig fohe o A
ey g7
A Arunachal Pradesh
3BT TS2T
B Andhra Pradesh
3T 9cer
C Meahalaya
AT
D Sikkim
IGEETa]
Answer |A







